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TOPIC :- Chemical Bonding

SUB TOPIC :-

lonic Bond or electrovalent
Bond, lattice energy



.

& Practice Sheet :- 2

1. As compared to covalent compounds,
electrovalent compounds generally possess-

(1) High melting point and high boiling point.
(2) Low melting point and low boiling point.
(3) Low melting point and high boiling point
(4) High melting point and low boiling point.
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2. Which of the following statements is/are correct about
lattice enthalpy?

(1) Lattice enthalpy affects the solubilities of lonic
compounds.

(2) Stability of an lonic Compound depends on its lattice
enthalphy.

(3) Magnitude of Lattice enthalpy depends upon charge
and size of ions.

(4) All of these

STdd Tl & 9ved H, 7 § 9 dI 9 S99 8l 87
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3. Which compound have high
lattice energy.

ST AIfTh ST AT Holl Ui

BT
(1) MgO (2) CaO
(3) BaO (4) SrO
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4. Which of the following
halides has maximum melting

point.
f1 & 9 ®94ar edliss S
TATh Yef3d HITT—

(1) NaCl (2) NaBr
(3) Nal (4) NaF
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5. In Which of these compound
T'_
o — is least.

= ¥ 9 o9 A3 ff HGIH HH
-

(1) KCI (2) NaCl
(3) LiCl  (4) MgCl,
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6. Generally lonic compound have-

/

(1)
(2)
(3)
(4)

High M.P. and non — directional bond.
High M.P. and low B.P.
Directional bond and low B.P.

High solubility in polar and non polar

solvent.

HHId: I Aifire B8d 2—

(1) Sz AT T4 IfSIMHD I
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7. Solid NaCl is insulator of electricity because-
(1) There are no ion in solid NaCl
(2) Solid NaCl is covalent
(3) There are no free ions in solid NaCl
(4) Electron are absent in solid NaCl
3’ NaCl e[ &1 gHared il & Rlfd—
(1) 3 NaCl & =i &7 ¥ BT 2 |
(2) 3 NaCl I=aIoT® B |
(3) 31 NaCl % Haa 3=l &I 1@ AT 7 |
(4) o/ NaCl # sclo SruiRefd 3 |




HIVALHC

gl  NEET/AIMS/TIT-JEE FOUNPATION, BEHROR

8. In a period the lonisation potential
IS maximum for-

(1) Halogens (2) Inert gas

(3) Alkali metals (4) Chalcogens

Uh A H IfHad I fa9a arelm g—
(1) Belro (2) srfehg T
(3) &R rq (4) TehioT
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9. On moving down in a group the property
which generally increase is-

(1) lonisation energy (2)Electronegativity
(3) Metallic character (4) Electron affinity

T H A Feld UR A BT I[ORH el
5

(1) M= ol (2) faga skoral

(3) arfcass &AeqoT  (4) elo gl
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10. The compound having
super octet Is:-

JUR 3<dh qrell AIfTdh 7
g1 BeE. 21O
S8

/
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11. In a Lewis symbol, the dots are

representing.
(1) Number of Protons (2) Valence electrons

(3) Number of Nucleons (4) Number of
Neutrons

N\

¢ [a BN N\ N
ds9 Udip H g Mefid ad 53—

(1) 9IS T & F=T B (2) Sel0 Bl FE=AT B

(3) fdretRAT BT AT Bl (4) YAl Bl FEIT D
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12. In a Cl, moleceule, the total
number of bond pair and lone pair
respectively are:
Cl, 319 § §¢ A AT Yebihl JTH DI Hol
T AT B—

(1) 2, 12 (2) 12, 2

(3) 6, 1 (4) 1, 6
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13. Which of the following does not
increases on moving from left to right in the
modern periodic table?

(1) Atomic Number (2) Nuclear charge
(3) non- metallic charcter (4) Atomic radius
3MEf~eh 3T AR § 9§ SR ol R 77 4

DHITHT JURRH T8l qgdl g
(1) IRHTY] HHTD (2) AT ST

(3) 3T IeTv] (4) uvETY] 3o
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14. The diatomic molecules

containing maximum Number of
bonds is:-

fbd fgURHAIG 9 H dY DI

T JTfhdd Bi—
(1) O, (2)H, (3)N, (4)Br,
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15. If A,B. compound is formed, then
Number of balance electron in A and
B are:-

A,B.JIffTs & =0T A 3R B ¥
TAISThdT §010 &I T&IT FdTgd—
(1)5,6 (2) 6,5

(3)4,6 (4) 2,5
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16. Total Number of lone pair of
electrons in |;- ion is:-

|, 3T H el Tebidhl Sclo I
(L.P.) garga—

(1) 9 (2) 12

(3) 3 (4) 6
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17. Which one of the following alkaline
earth metal sulphates has its hydration
enthalpy greater than its lattice energy?

1 ¥ 9 9T AR e 97d dohe

STTAIST &oll BT |19 SiTddd Sl SATGT
a—

(1) BaSO, (2) SrsO,

(3) CaSO, (4)BeSO,
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18. A solid will be soluble in water if:-

(1) Lattice energy is more than hydration energy

(2) Lattice energy is less than hydration energy

(3) Lattice energy and hydration energy are equal

(4) Process will be exothermic.
U oI ofdd H [detd B8N Afa—

(1) STTI® Soofl, STerAoTd $Holl | 31D B |

(2) SiTeTd FHoll, TrdIo Holl, d 6H 2 |

)
(3) STTId oofl, STAIoTd $Holl ST S¥T6R B |
(4) SEHEYT UhH & HIROT
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19. Solubility of NaCl, Na,SO, and Na,P,
in water in increasing order is:-

ot # NaCl, Na,SO, v Na,PO, @
f[oTgdT T dedr e ddIsd—

(1) NaCl < Na,SO, < Na,PO,

(2) Na,PO, < Na,SO, < NaCl

(3) NaCl < Na,PO, < Na,SO,

(4) Na,SO, < NaCl < Na,PO,
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20. The compound with non —
directional bonding is-

\\ N\

T JMCIMHD ¢4 B

El‘c{f?iﬁ PN B
o=
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